Intermediate Algebra (B) : Name ANSWER KE >/
Review — Unit 5.1 A-H Solving Quadratic Equations Classperiod 1 2 3 4 5

roblems 1 —4: Solve by Graphing. Show the Graph AND the Solution(s).
Round to the nearest hundredth when necessary.
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Problems 5.—- 10: Solve by Factoring. ‘Show the Factors AND the Solution(s).

5 x24+10x—24=0
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Factors: (X +/ 2") (X T 2’)

Solution(s): X‘?,"/Z X =2
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Solution(s): X 2 X= 2
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Factors: fan ‘E b{ ')Ca (’;I’JY €CI

Solution(s): X //L'l )( = -3, b‘/

6. 4x2+11x—3=0
ty -\

S

3 |1x|-3
o

Factors: ( X+ 3) (‘I‘X -1 )

Ge =1

L
Solution(s): X= "3 ¥ :‘f‘

8. x2+6x+18= 90,
.-q - "
¥? +ly+q=0- G'GF

. 3

v u 3\
Factors: (\L+ 53 (K "“3>

Solution(s): X = 5

106x +12x—0 e
- GCF = X

x( Ix+2)=0

Factors: LQX (X+ 7’)

Solution(s):_X = 0 X = 'L
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Problems 11 — 16: Simplify.
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Problems 17 — 22: Solve by using Square Roots. You must show your work te receive full credit.

1)\((95 + 5)2 % ' 18. 2(x—1)2-97=1

+93 +1F
+5 =t »
Pk 2(x-1)* =99

X+S=l ‘y+S5=-0b

: 2. 2
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: W= =t
X“‘ = k K—\= -7
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X =8 xE=-b
Solution(s): X=1 xXx==- 1 ' Solution(s),. X =& X =-p
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Problems 17 — 22 (continued): Solve by using Square Roots. You must show your work.
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Solution(s): X = ¥+t X =Y~k
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Solution(s):_ X = Y x=-b

22. -3x*2-6=21
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Solution(s):_X = 3¢ x=-3L

23. A rock is thrown upward from the top of a building. The height of the rock can be calculated using the
function h(t) = —16(t — 4)? + 320, where h(?) represents the height of the rock after ¢ seconds. After

how many seconds does the rock hit the ground. Solve by Square Roots AND by Graphing. Make sure
your answers match! Ya '
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